
� 24 1 0 1 �1 1 00 1 1 �2 1 00 0 �1 2 �2 1 35 � 24 1 0 0 1 �1 10 1 0 0 �1 10 0 �1 2 �2 1 35� 24 1 0 0 1 �1 10 1 0 0 �1 10 0 1 �2 2 �1 35Thus A�1 = 24 1 �1 10 �1 1�2 2 �1 35 :4. Compute the following determinant by row operations (20pts)�������� 4 �2 1 �38 2 1 �34 1 1 �28 �1 1 �3 ��������Solution. By elementary row operations, we have�������� 4 �2 1 �38 2 1 �34 1 1 �28 �1 1 �3 �������� = �������� 4 �2 1 �30 6 �1 30 3 0 10 3 �1 3 �������� = 4 ������ 6 �1 33 0 13 �1 3 ������= 4 ������ 6 �1 33 0 1�3 0 0 ������ = 4 ���� 3 1�3 0 ���� = 12:
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